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1 (b)  Lexan is a polymer of diethyl carbonate and bisphenol-A. 
2 (b)  When a diacid is condensed with dialcohol, the 
polymer obtained contains ester linkage. 

 
3 (d)  Rayon, an artificial silk, contains long fibres of purificed cellulose 
4 (d)  These are characteristics of thermoplastics. 
5 (a)  PCTFE is polymer of chlorotrifluoro ethane. 
6 (d) 
Nylon is not homopolymer as it is a copolymer. The monomers of nylon-66 are adipic acid and 
hexamethylenediamine. Nylon contain 
    O   
    ∥ 
−C− NH− (amide) linkage,hence they are structurally polyamide. Also nylon is condensation polymer as 

molecule 𝑛HOOC—(CH2)4 —COOH + 𝑛 . HNH—(CH2)6—NH2
    −𝑛H2O
→       

 
7 (c) 
Thiokol is a synthetic rubber. 
8 (c) 
Ethylene glycol on reaction with terephthalic acid forms the polymer terylene(also known as Dacron or 
terene) which is used as synthetic fibre. 
𝑛 HOCH2 . CH2OH+ 𝑛 HOOC . C6H4 . COOH 
    Ethylene glycol             terephthalic acid 
↓  −𝑛 H2O 
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9 (d) 
All are the characteristics and example of terpolymer. 
10 (c) 
Protein is a natural polymer of amino acids. 
11 (b) 
It is definition of copolymerisation. 
13 (b) 
The vulcanisation of rubber makes it elastic and strengthened. 
14 (d) 
Nylon is a copolymer of hexamethylenediamine and adipic acid. 
15 (c) 
Buna-S is a elastomer, thus has weakest intermolecular forces. Nylon 66, is a fibre, thus has strong 
intermolecular forces like H-bonding. Polythene is a thermoplastic polymers,thus the intermolecular force 
present in polythene are in between elastomer and fibres. Thus, the order of intermolecular force of these 
polymers is  

Buna − S < 𝑃𝑜𝑙𝑦𝑡ℎ𝑒𝑛𝑒 < 𝑁𝑦𝑙𝑜𝑛 66 
(𝐵)(𝐶)(𝐴) 
16 (c) 
Rayon is regenerated fibre. 
18 (d) 
Nylon-66 is polyamide fibre which is manufactured by the condensation polymerization of adipic acid and 
hexamethylenediamine. 

 
19 (c) 

Teflon  is fully fluorinated polymer. 
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